
 

 

              20 × 30  and  60 × 40  etc 
 

1.  We know that:     Ten 10s = ………   or   10 × 10 = ……… 
 
2.  Let’s count in 20s to see what 10 × 20 equals: 

 1 2 3 4 5 6 7 8 9 10 

×20           
 
 

3.  This means that:     Ten 20s = ………   or   10 × 20 = ……… 
 

 

4.  Let’s fill in the following answers.          

a)   10 × 20 =  ………. b)   10 × 50 =  ………. c)   10 × 80 = ………. 

20 × 10 = ………. 50 × 10 = ………. 80 × 10 = ………. 

 

5.  Without counting, we can calculate 20 × 30 as follows:  

            20 × 30 = ……………………………        Remember 10 × 10 = 100      

      and   30 × 20 = ……………………………                

6.  Let’s fill in the following answers.          

a)   20 × 20 =  ……. b)   40 × 20 =  ……. c)   30 × 30 = ……. 

 

7.  We know that 3 × 5 = 15. 

    Let’s calculate 30 × 50: 

           30 × 50 = ……………………   and    50 × 30 = ……………………                

8.  Let’s fill in the following answers.          

a)   40 × 30 =  …………… b)   40 × 40 =  …………. 

c)   50 × 60 = …………… d)   70 × 60 = …………… 




